Useful Information for Chemistry 202 Final Exam

Always assume ideal behavior for gases (unless explicitly told otherwise).
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Solubility Rules:
1. Most nitrate salts are soluble.
2. Most salts of sodium, potassium, and ammonium cations are soluble.
3. Most chloride salts are soluble. Exceptions: silver, lead(Il), and mercury(I) chloride.
4.  Most sulfate salts are soluble. Exceptions: calcium, barium, and lead (II) sulfate.
5. Most hydroxide salts can be considered insoluble. Soluble ones: sodium, potassium, and calcium

hydroxide.
6.  Consider sulfide, carbonate, and phosphate salts to be insoluble.

AE=q+w H=E+PV
AS:qrev/T G:H_TS

Here are some of the formulas we used/derived in studying thermodynamics. An individual formula may or
may not apply to a specific problem. This is for you to decide!

AS =nRIn(V2/V1) AS=AH/T Cv=3/2)R C,=(5/2)R
AS =nClIn(T2/T1) AG = AG° + RTIn(Q) ASsurr = —q/T
w =—PAV qrev = NRTIn(V2/ V1) q =nCAT
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Table 15.6

Summary of the Kinetics for Reactions of the Type aA —— Products That Are Zero, First,

or Second Order in [A]

Order
Zero First Second
Rate law Rate = k Rate = k[A] Rate = k[A]?
1 1

Integrated rate law [A] = —kt + [A]y In[A] = —kt + In[A]o m =kt + [TJO
Plot needed to give a 1
straight line [A] versus ¢ In[A] versus ¢ TA] versus
Relationship of rate
constant to the slope Slope = —k Slope = —k Slope = &
of the straight line

. A 0.693 1
Half-life t1/2 = 2k tvl/z = A t1/2 = k[A]O
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